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Reasons Why Fundamental Accounting Concept1 Test Fails 

CF3 

Net Cash Flow = Net Cash Flows, Discontinued = Net Cash Flows, Operating, Discontinued + Net Cash 

Flows, Investing, Discontinued + Net Cash Flows, Financing, Discontinued 

What this rule tests 

This rule tests the relationship between three very common line items of a financial report: 

 Net cash flow, operating activities, discontinued 

 Net cash flow, investing activities, discontinued 

 Net cash flow, financing activities, discontinued 

 Net cash flow, discontinued 

On the cash flow statement, net cash flow from discontinued operating, investing, and financing 

activities foots to a total (whether that total is explicitly reported or not). 

Of all filers, approximately 99% pass this test.  Of the remaining 1%, the following are the reasons this 

test is failed: 

 Reports cash flows from discontinued operations, but makes no distinction as to whether the 

cash flows are operating, investing, and financing (approximately 61% of errors) 

 Undetermined reasons 

 

Common reasons why test fails 

Reports cash flows from discontinued operations, but makes no distinction as to whether the cash 

flows are operating, investing, and financing 

This error is caused by a filer reporting cash flows from discontinued operations but not indicating if 

those are operating, investing, or financing discontinued cash flows so the total does not add up to the 

detail because there is no detail.  By contrast, of the 371 reporting entities which report cash flows from 

discontinued operations, 340 of them do distinguish between operating, investing, of financing: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1438461&accession_number=0001144204-12-

010144&xbrl_type=v#   
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 For more information on the fundamental accounting concepts and the relations between these concepts please 

see http://fundamentalaccountingconcepts.wikispaces.com  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1438461&accession_number=0001144204-12-010144&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1438461&accession_number=0001144204-12-010144&xbrl_type=v
http://fundamentalaccountingconcepts.wikispaces.com/
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Alternatively, the software algorithm could imply that discontinued cash flows are all operating.  

However, it would be better for reporting entities to be explicit. 


